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1. The following is the balance sheet of Mr. Satyendra Company Limited
Nanded : 10

Balance Sheet
As on 31st March 2020

Liabilities T | Assets 4
Equity capital 9,00,000 | Goodwill (at cost) 4,50,000
6% Pref. capital 4,50,000 | Machinery 5,40,000
General reserve 90,000 | Land & building 6,30,000
Profit & loss 3,60,000 | Furniture 90,000
Provision for taxation 1,58,400 | Inventories 5,40,000
Bills payable 1,11,600 | Bills receivable 27,000
Bank overdraft 18,000 | Sundry debtors 1,35,000
Sundry creditors 72,000 [ Cash at bank 1,80,000
12% debentures 4,50,000 | Investment (short-term) 18,000
Total 26,10,000 26,10,000
P.T.O.
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You are required to calculate :
(1) Current ratio
(2)  Liquid ratio
3) Proprietary ratio
4) Capital gearing ratio.
TS, Ul eiieed feudt foaror wrefial g9 eTR -

Rerdt fgaur 31 wr=l, 2020 TS
g T | wui 3
AT 9 qiead 9,00,000 | ATt 4,50,000
6% AR 9 9igad | 4,50,000 | = 5,40,000
= 90,000 | 9t 9 ARG 6,30,000
AT @ 3,60,000 | ITERT 90,000
ETEGIGH 1,58,400 | hu 5,40,000
37 fau= 1,11,600 | 9= fous 27,000
srfeeRTe SrfufaeRs 18,000 | fafaw =kurhl 1,35,000
fafay It 72,000 | stfeeRroy @ 1,80,000
12% &SRIE 4,50,000 | T[UEUER (3TEIHRA) 18,000
26,10,000 26,10,000

SEIRIRE B TR B
(1) = U
(2) A U

(3) e U

(4)  viEad TR ST
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Or/fenan
Financial statement of Shri Ram Comp. Ltd. is given below : 10
Balance Sheet
As on 31st March 2020

Liabilities % | Assets 4
Share capital 1,20,000 | Fixed asset 64,000
Reserves 48,000 | Stock 1,50,400
P & L Account 19,200 | Debtors 1,31,200
Debentures 48,000 | Cash 11,200
Current liability 1,21,600

3,56,800 3,56,800

Income Statement
(For the year ended 31st March 2020)

Particulars 4 4
Sale :

Cash 51,200

Credit 5,47,200 5,98,400
Less :

Cost of Sale 4,76,800

Gross Profit m
Less : Expenses :

1. Administrative 38,400

2. Selling 22,400

3. Other 30,400

4. Debenture interest 3,200 94,400

Net Profit 27,200

You are required to calculate : P.T.O.
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( 4)
Quick Ratio

1
2 Stock Turnour Ratio

3. Fixed Asset Turnover Ratio
4

. Proprietary Ratio.
ot T wuvht . =t foxia foeror ereia gEm
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feordt fearamor
(31.08.2020 Trsi=)

g iy | wut Ty
aT rEad 1,20,000 | fEer o=t 64,000
e Ay 48,000 | @Y 150,400
ELAGICAKCI] 19,200 | 37wl 1,31,200
EIS G 48,000 | @ 11,200
IR 1,21,600

3,56,800 3,56,800
e faaor
(31.03.2020 TSt WUUTTAT SSiehian)
faawor @R ) | @ ()
ICEIRE
Qe 51,200
YR 5,47,200 5,98,400
30 Tk e 4,76,800
gHhal a1y 1,21,600
a8 2 Y
ERUEEAR] 38,400
fasht 22,400
TR 30,400
FIAATGL TS 3,200 94,400
qS 4 217,200
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1. Slef] AT
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3. TR WU ST
4., T STUE.
2. Profit & Loss A/c of Shivaji Industries Ltd. on 31st March, 2016 are as
follows : 10
Profit & Loss Ale
(For the year ended 31st March, 2016)
Expenditure 2013 2014
Opening stock 40,000 40,000
Purchase 2,40,000 3,00,000
Carriage inward 20,000 30,000
Direct wages 1,00,000 1,80,000
Gas, water, power 40,000 1,00,000
Gross profit c/d 1,60,000 2,50,000
6,00,000 9,00,000
Income 2013 2014
Sales 5,60,000 8,00,000
Closing stock 40,000 1,00,000
6,00,000 9,00,000
Expenditure : 2013 2014
Salaries 16,000 18,000
Rent & Taxes 5,000 6,000
Printing & Stationery 2,000 3,000
P.T.O.
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Advertising 1,600 2,000
Interest on loan 4,000 2,000
Net Profit (c/d) 1,31,400 2,19,000
Income : 2013 2014
Gross profit (b/d) 1,60,000 2,50,000
1,60,000 2,50,000

You are required to prepare comparative income statement.

TRTaTsit TSRS o, = ThERl B 31 1T, 2016 AT TUum=a1 Feiehial Qe JHTo)

feot aTR e
SRR W
31 Hre, 2016 Vst HUUTAT FSieRLldT
ECE] 2013 2014
TR The 40,000 40,000
TR 2,40,000 3,00,000
3T == 20,000 30,000
JA& ot 1,00,000 1,80,000
|, qoft, fast 40,000 1,00,000
ghel AH 1,60,000 2,50,000
6,00,000 9,00,000
3T : 2013 2014
forsht 5,60,000 8,00,000
TR @hY 40,000 1,00,000
6,00,000 9,00,000
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< 2013 ) 2014 })
I 16,000 18,000
TS 9 H 5,000 6,000
g F W 2,000 3,000
SIENG] 1,600 2,000
ExIEri il 4,000 2,000
THeges A 1,31,400 2,19,000

1,60,000 2,50,000
3T : 2013 2014
ke TH 1,60,000 2,50,000
1,60,000 2,50,000

e Hifgdiee STIUTE s 3cdel foeRul TaR Haarn 3.
Or /fenan

Prepare a common-size income statement of Kashinath Ltd. on the basis of

data given below :
Income Statement

(For the year ended 31.3.2015 & 31.3.2016)

Expenditure 2015 ® 2016 ®)
Cost of goods sold 2,70,000 2,92,000
To gross profit 1,22,400 1,18,420
3,92,400 4,10,420

Income 2015 2016
Sale 4,00,400 4,20,420

Less : Return inward 8,000 10,000
3,92,400 4,10,420

P.T.O.
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Expenditure 2015 ®) 2016 (?)
To Administrative expenses 60,000 63,000
Selling exp. 30,000 35,000
Net profit 32,400 20,420
1,22,400 1,18,420

Income 2015 2016
Gross profit 1,22,400 1,18,420
1,22,400 1,18,420

FIRHY T, = Wiell fGoied ifgdiasd T SR e f9a)ur TR &4 ¢

ey faerur
31 dre, 2015 9 31 |rd, 2016 TS GUUMTAT Felichitar

ECE] 2015 2016
forshid = oo 2,70,000 2,92,000
bl AFhI 1,22,400 1,18,420
3,92,400 4,10,420

SAA 2015 2016
forsnt 4,00,400 4,20,420
(=) qd 8,000 10,000
3,92,400 4,10,420

G 2015 2016
PNIREIRIRC T 60,000 63,000
forent 30,000 35,000
Tearer AT 32,400 20,420
1,22,400 1,18,420

SAd 2015 2016
Hehel T 1,22,400 1,18,420
1,22,400 1,18,420
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Prepare an estimate of working capital requirement from the following

information of XYZ trading concern. 10

Budgeted sales of ¥ 2,60,000 per annum. Analysis of each unit.

Raw material 3
Labour 4
Overhead 2
Profit 1
Total 10

It is estimated that :

(@) Pending use, raw material are carried in stock for three weeks and
finished goods for two weeks.

(b)  Factory processing will take three weeks.
(c) Suppliers will give five weeks credit
(d) ~ Customer will require eight weeks credit.

It may be assumed that production and overheads accrue evenly throughout
the year.

el fediedn XYZ Ui 9&3=1 Alfgdiasd hidarid 9iedd darf .

3ETSa arsieh foehl & % 2,60,000 TEA. Ul Teheh @e faveioml @eiial Tl
T[EA

Seal HiA 3
[GEE 4
IS 2
T 1
TR 10

P.T.O.
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(@) a1 AT GEaUh 3 3eae o Udehl Al WS ferdl & 2 3feas
TRl

(b) UG 98t 3 SAeEe AN

(¢ TECRNH Tl feorelt SURE TR wramae 05 seae Wid

(d) UEHHl A hoied SHET qUH wEH 08 e .
Or/f&ar

Hari Company is considering to purchase a new machine. To alternative

machines (X and Y) have been suggested. Each costing ¥ 10,00,000 earning

after taxation are expected to be as follows :

Year NPV of T 0.1 at 12% Cash Flow (in %)
Machine X Machine Y
2016 0.833 1,00,000 2,50,000
2017 0.797 2,50,000 3,40,000
2018 0.712 3,40,000 4,25,000
2019 0.635 5,00,000 2,50,000

You are required to ascertain the more profitable machine. Use discounted

cash flow method.

B Al Ao 99 BRET el foaRE o, g9 99 (X 9 Y) Y& ¥ 1,00,000
forucdiel gfauard efelell fed. A UM eTUsfid Tt @rmeit focledt 3T -

EE] T 19 120 =X g 9ae

freaet adum g g7 X EER Y
2016 0.833 1,00,000 2,50,000
2017 0.797 2,50,000 3,40,000
2018 0.712 3,40,000 4,25,000
2019 0.635 5,00,000 2,50,000

TR S AR I (e el S, o7Usd U@ Wae 95d  aTddl.
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Bhagyashri Comp. Ltd. is considering the purchase of new machine. Two

alternative machines (A & B) have been suggested. Each having an initial

cost of ¥ 5,00,000. 10
Year NPV of T 1 at 10% Cash Inflow
Machine A Machine B

2014 0.91 2,00,000 2,50,000
2015 0.83 1,40,000 2,00,000
2016 0.75 1,00,000 1,50,000
2017 0.68 80,000 1,60,000
2018 0.62 60,000 1,20,000

The company has targeted of return on capital of 10% and the NPV of
1@ 10%.

On this basis you are required to compare NPV of machine and advise

which machine should be purchased employing discounted cash flow method.

It yHed TG Uk AdE I ©REl v faend . g9 wEEr I (31
o 9) Afwa[ el 39T s g5l Jd fhaa 2 5,00,000 3.

EL] TaaE T 2 1 @ 10% TG garg

PERC RERC]
2014 0.91 2,00,000 2,50,000
2015 0.83 1,40,000 2,00,000
2016 0.75 1,00,000 1,50,000
2017 0.68 80,000 1,60,000
2018 0.62 60,000 1,20,000

el Hifedi=n SMeR TS G SAAHH Hedrd! el 4 ST SRR 9 Y18 dgaran
R & HIOC T3 SR HU AT HaLf=l Heell =@

P.T.O.
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Or/f&ar
Write short notes on the following :
1) Write the limitations of financial statement.

(2)  Advantages of Ratio analysis.
Teftaey. |iga dar e

o n o

(1) fo<ira faarom=n wafer @

(2) 3TUE faveoUE wRR.
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